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Express the following set by listing the elements.
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U= {x|x 7 »x%@ég)@%j } U= {x|x ix 8 LAT L }
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Scribble the relation of the following sets.
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Bis a subset of A
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Enter the elements of the following set in the Venn diagram.
FindAN Band A U B.
o fEn
e U={1,2,3] U
@ _ _ A B
A={1,2 }, B=0 o ;
ANB=0, AUB={ 7,2}
nwrEn
e U={1,2,3] U
@ _ _ A B
Aa={1,2}, B={1} s 3
ANB={7}, AUB={7,2 |
bhEn
HE U={1,3,5,7} U
@ A B
Aa={1,3},B={5,7}
bhED
e U={1,2,3,4} U
@ A B
Aa={2,3},B={2,3]
bhED
HE U={1,2,3,4) U
© A B
A=0 ,B={2,3}
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Express the following set by listing the elements.
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U= {x|xi24c7>n’~ﬁ éﬁc}
{x |xlsad1V1serof24}
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A={x|x1Z 30K |
:{ |xisamultip1eof3}
:{ 3,6,72, 24 }
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Scribble the relation of the following sets.
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@% & A set A
a={s 2}
Ly5ZH
@% 4 B set B
B=
FELlwHIT5
@DADOMHESR A
complement of set A
A={s}
ELwo 29
® BOMi%A B
complement of set B
B={1 2 3}
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2 is an element of set A

2 €A sz AD2

fy x

DO ADERE TN

0 is not an element of set A

the union of A and B

={n 2}

AUB

0 £A =z AZ0
5 /Sa/ul,vya:“i
® A X B D4 T A
A is a subset of B
ACB -3 BDA
© ANB % IE T
the intersection of A and B
ANB =
© AUB XA A
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Enter the elements of the following set in the Venn diagram.
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Show De Morgan's law in the following Venn diagram.
v 2y bA D
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A={3 |
B={ 2 |
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ANB={23 }
“"AUB=ANB
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Express the following set by listing the elements.
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Scribble the relation of the following sets.
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@% 4 B set B
B:{ 23,4 }
[ O N B B—
@DADOMHESR A
complement of set A
A={1 25}
[ B R—
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complement of set B
B={/ s}
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3 is not an element of set A
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A is a subset of B
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Find the set shown below.
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Show De Morgan's law in the following Venn diagram.
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Express the following set by listing the elements.
A £ LA N
i D ] D
U={x|x i8»x%@§%%j } U= {x|x iGLXT E%%ﬁ }
{x |xls natural number
less than or equal to 8
{/, 2,3, 4,5 6,7, é’}
=SR] S
A={xlxxaofEm ) |A={xlxi3 0%
:{ |xlsamult1p1eof4}
={v ]
A ED LA N
(AE=:10) MO
U= {x|x i6?§%@é&9}@%§ } U={x|xm5}§;}%@§%%§ }
{x |xls natural number
less 6
:{/, 2,3, 4,5, 6,7}
A={x|xzi5@%“§§z} A:{JC'JCi?)@FLT%éI}
:{x |xlsamult1p1eofo}
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Scribble the relation of the following sets.
v bA WD
[l

@% /EI\A set A
A:{/, 2, 3 }
Lw9ZTH
@% /EI\B set B
B={:|
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complement of set B
B={1 3 4}
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4 is an element of set A
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4 is not an element of set A
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Enter the elements of the following set in the Venn diagram.
FindA N Band A U B.
nn En
e U={1,2,3] U
) o B A B
Aa={1,2}, B={3} Co( ) s
ANB=0, AUB={ 7,2,3}
N
g U={1,2,3,4} U
) o B A B
a={1,2}, B={1, 3] s 5,
ANB={7}, AUB={7,2,3}
bHA WD
HE U={1,3,5,7} U
) A B
A={1,3},B={5}
HA WD
e U={1,2,3,4} U
@ A B
Aa={1,3},B={2,3]
HA WD
e U={1,2,3,4} U
®) A B
A={2,4},B=0




